First part of recipe:  list of disanalogies.  I only thought of one.  You may have thought of others.  I wouldn’t fault you for not thinking of this very one.

a.
A burglar is guilty of wrongdoing in trespassing; a fetus is not.

Second part of recipe:  adjust either target or analog (or both) to remove the disanalogy.  I can’t think of a helpful way to adjust the target.  But I can adjust the analog, by imagining an innocent person instead of a burglar trespassing.  We get the closest analogy if I can imagine this innocent trespasser to be an infant, whom someone left inside my room.  This adjustment to the analogy does not change my agreement with the author about the conclusion of the analog, as adjusted in test 1, that it would be unacceptable to say I cannot remove the trespasser in a way that preserves its life, and I cannot kill it in self-defense.  

Killing an infant in self-defense is a bit hard to imagine.  Suppose that I find this infant in my room, locked inside its basinet with a time bomb.  As it happens, I have a rare medical condition making it fatal for me to leave my own house.  So I throw the basinet (I ought to mention that, despite my medical condition, I’m a champion shot-putter) far enough out the door to save my life.  The only option was to stay and die with the infant.

In sum, according to test 2, the disanalogy is irrelevant, because we can patch things up to remove it and still agree with the author.  Notice that test 1, however, has severely limited this argument’s usefulness to pro-choicers:  by analogy, abortion is permissible only when the mother’s life is in danger.

You should be able to see that we’ll get the exact same results with the other variations on this analogy, so I won’t give you those as exercises.

